Math 1110: Implicit Differentiation Oct 1 (Mon)
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1. Compute the derivative 3’ of 23 — zy + y> = 1.

2. Compute the derivative y of (zy + 7)% = 2y.

3. Compute the equation of the tangent line to the curve 2zy + wsiny = 27 at (1,7/2).



4. Consider the folium of Descartes whose equation is > + v = 92y. Find ¢/'.
Then explain the steps to find the point(s) at which the tangent line is horizontal.

5. Compute the slope of the tangent line of the lemniscate z# 4+ 222y? + y* = 16(2? — 32) at the point
(4,0).

6. Extra problems: Compute the derivatives of €2* = sin(x + 3y) and (22 + y?)? = 1622 — 161>



